C)\mqvl« Hu. Sjuprl’ aﬂ F "Mw[ W CP )= pwrwm
(D &) s Caus S ay - Bkl = LS50 ;
sy s Cx-F. -5 F-6F = 20E8M  i)roabive b
f s Das) B4 5 3-CF +§ =20 s JU prove &
: At §r - 20 -7 +6F LANS.
7 Er= 3+6F
= 1371_15'
i
. 4 AY o\ / ~
{20 IneS > T~/ (4) 4(d-de)= ¢+ +3e
= 20+ 5 2 WUt -t = Yd ~Je = F+3e
2n +5 +9¢ =24 Hd = F tletle
qé - 24t-2n-§ 4d ~ ?‘-*“e
Pz 19-2a d=z Ztlle
€= 19-2n 4
b 4
(\) he=yé-d &/ f2ntlp =M
hL"' é"’d Fneltp /M
A +d = € 2h = MP-ly
d = {'rrl\.l N= M -4
: 3
Z\ 0N
(P w(5-3€) =2(¢+s/
= Sw -3Ew =2£+10
S -10 2 2E+ 3w <bought £ b RHS
Su =10z ¢f2+3w0) & Ae—'pow@m
Sw- _;'é
2 +3w
(B} s ek (4 dlive) =2
o’ oAt = -
9(2e-5) = %49 2d+de = 3(5-<)
Dy =S 520 q 2d e = L) - 3e
Qquw)Lj = 9+ﬁ7 3arde =45 -2
x( 2._,-:) ‘74:7\») RB+d) = =2
e s TSy Y e LTl
Z‘c) -1 S+




